TORCH P180 [ty

RoHS

v/ C € Eneos7a7 (@ Lo

Technical data BARSH

Cooling A# 73 Gas Cooled 5% 19
Duty cycle 60% #%#%60%  200Amp CO, ,160Amp MIX

Wire Size R4EHRZ ©0.8-1.2mm

1 1CS0456 Nozzle PAN 180;®:#/H X180

2 ICU0746-10 Contact tip @ 1.0 M6x45; 5 Bl ® 1.0 M6x45

3 1CZ0740 Torch head PAN 180;#t %1/ H 3180

4 ICV0895 MIG handle PAN180; MIGF #&/H X180

5 IHQ0186 Switch for MIG/PAN ; # 57 FF /B = 48 F

6 IFT0860 Spring for switch/PAN ; 38 %/H = 46 2 5 7F % A

7 IFT0874 Screw M3x10mm ;2 £ M3x10mm

8 IFT0825 Spring cable support; B 45 3 15 i 38 &

9 ICN0110 Coaxial cable assembling /3m/PAN; [ 4 B8 #4548 /3m/H &
10 I1ZH7065 Gas connector for MIG torch/PAN; A R FE S B #

11 IFT0821 Spring cable support/PAN; & 4 3 3% F 3 &/ H X

12 IFT0020 Nut M4 ;7 R 8 M4

13 IFT0079 Screw M4x20;#2 4 M4x20

14 IHJ0640 Back box for PAN torch;/F 8 &E/H X

15 IHQO0755 Connector 2 holes/with connectors/PAN; & it il #&

16 1ZT9009 Connector with hexagonal nut 9/16-18;1% k75 9/16-18 ;N 12 &
17 IFT0803 Spring for gas tube; S & Flsu &

18 IKH0668 EPDM tube 5x10 300mm;EPDM%& 5x10 300mm

19 11C0551 Insulated steel liner 0.8-1.0 3.1m Black PAN 180;i 4 4 B % £ & 0.8-1.0 3.1m/2 &/H X180
20 ICG6000 Spanner for MIG torches; MIG 1&#t 1k F

21 ICG6007 Spanner for PAN torch; B it i 73 AR F

Complete Torch
ICT6531-36 MIG 180 torch 3m PAN;/£1£180 3m A=
1CT6532-36 MIG 180 torch 4m PAN;/21£180 4m A X

ICT6533-36 MIG 180 torch 5m PAN;/£4£180 5m H X



